
1. Write one hundred and nine as a number. Write your answer in 
the box a. 

2. Draw a ring around these numbers: Eighty-seven, forty-nine 
and twelve. 

3. Work out the sum of 4 and 16. Write your answer in box c. 

4. Add these numbers: 4, 3 and 7. Write your answer in box d. 

5. Bob has a two-pound coin and a fifty pence.  How much money 
does he have altogether? Write your answer in box e. 

KS1 SATS style aural 
questions

a 

b 

c 

d 

e 

18   24   45   31   87   52    12    
90    49 

©
 2

0
1
8
  
 h

tt
p
s:

//
th

e
m

u
m

e
d
u
ca

te
s.

co
m

  

© 2018   https://themumeducates.com  

https://themumeducates.com/
https://themumeducates.com/

